EETDEIX

1 AOpExR
AAESIYREEE
AR #1605 (19854

)

85imLl L
80 ~ 84
75~ 79
70 ~ 74

0 8 6 4 2

2 4 6 8

10

SF124E (20204F)

80 ~ 84

B ~19

O

70 ~ 74
b

65 ~ 69

60 ~ 64

55 ~ 59

50 ~ 54

45 ~ 49

| 85 Ll L
I

40 ~ 44

35~ 39

30 ~ 34

25~ 29

20 ~ 24 -

s~19 B

10~ 14

5~9

0~4

RN
NN ]

12 10 8 6 4 2 0

AOBREEHI2E1081BIRAE) BT A
&t B gk SEARAODHFE
ABO# 16,252 7,562 8,690
65 EAD 7,122 2,994 4128
" 438 39.6 475 25
(RSRLLE %) 2951 (2641  [324]
T E 9,324 [802,803]
—HEA 1.74 [2.21]
[ INZ=88
A O ENRE(S 25 FETE S _ B A
&t S it
HAE# 64 35 29
ETH 307 157 150
HAEADTF3) 3.94 [6.29]
& (AOFH) 18.89 [11.70]
[ INZ=88
SRR AADHTE 0PN
ERITE | F 224 | ER2TE| HF2E
(20054F) | (20104F) | (20154F) | (2020%F)
0~14%% 2,569 2,168 1,754 1,396
15~ 6475 12,653 10,645 8,833 7,323 Ho~14i  B15~64i  OesamilE
65 UL E 6,875 7,201 7,375 7122
2 ZECDOKKE
FEERBETRE AD1075 %t 40 ~BARICHTHEFEERELE

SEE BiE L AO105 5%

y 1749 97.7 =t B ZHE
BIEHEY) “‘é‘é’%] [:73%.2] it 254.3 3534 160.3
o : . = 160.4 202.2 118.7
e

. . . TSR
skt [3%] [1513.3]
XEEMW 1[2:2] [13 _'8] B EEH i - -
= . . 5 EL =g
U [Zs'g] [%g] R 1613 238 11.1
i | . . AO105 %t R . .
¥ R W [5.4] [2.4] =5E 1,408 987 471
- 16 1.3 AD1055t 15.7 22.6 9.2
w M E [1.9] [1.5] A ]
[T SR D B 5T
[} godddooooecodOdOoOoOOOOOd



16

250.0
2000
150.0
100.0

50.0

0.0

30.0

200

15.0
10.0

FimARE T E (ERSF R D)

— T === (H1E)
SN—————————hmmS—

EUHLEY

s
[

BEEWm O=ER

R

(%Z1%)

i K &

N

100

50 0

——

XBREW

S-S

=m

:F

it

20

40

60

\m
[ ]
OO

i
I
-

—

5o = DONL
14 12 10 8 6 4 2 0 0 1 2 3 4
FHABRCEOERER
Bt oo
—— EMH
A £ 100.0 |
oA LR
Aol oA epae--A 50.0
e~ .ZA - — o R Brme pmmmge =B
e TR T RS L& 3 — T m—
: 0.0 -
H28 H29 H30 RO1 R02 H28 H29 H30 RO1 R02
140
A — RXBE | 190 |
7N = 100 A‘
7N e \ AR FAR
¢ ~ ,l \ 0 \
.
\. Y >Z<‘ \ — T—  EFRR 6.0 n \\
\ , \
7 N\ _A 40 \

J_EB?EJJ-E PNE=E):

#ADataBox AO-HHEDEIE | (FRFEI10A1BIRE)

ERER T —4]

BBETEREARBRICEIAOD, AOBBRUETHI (FREIA1H)

— A=

#ZDataBox AO-HHDEIE I OAD

smmJﬁHﬂLtAu&UﬁEtﬂ(iéaﬁEé SOSEROEE

BBETMERERSRICESCAD., ADBRRUETFHRIOETHEH

2




